Maths

1a. Which two numbers add together to
make the answer 40317
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1b. Which two numbers add together fo
miake the answer 52207

A 1ose 100 1000 B [ 1000 100 | 1
100 100 10 1 1 1
1 1 1 1 1 1

c | 1000 1000 D | 1eee 1000 1008
100 100 100 100 10 10
10 10 1 1 1 1
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2a. Frankie is adding two 4-digit numbers
together.

What digits couvld be in the hundreds
column 5o that no exchange fakes
plkace?

2b. Ashante s adding two 4-digit numbers
fogether.

What digits could be in the tens column
50 that an exchange takes place?
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3a. Tem thinks that an exchange takes
plkace from the tens column in the

calculaticn below.

Is she comect?
Frowve if.
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3b. Delilah thinks that an exchange takes
place from the hvndreds column in the

calculation below.

Is she comeci?
Frowve if.
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